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fx) = Z22 bc+a?#0, £fof
f(x)=2x+3,gx)=x+1,KfogFegof
fx)=2x+1,g(x) = x* =2, Kfogegof
fx)=3x—2.9g(x)=kx+2,%fog=gof, Kk
f(x)zx;l’;. .
f@)=x2+1,9(x) = s Kfoghgof
f(X)=x+3, gof=x?+6x+2Kg(x)
fl) = x%,g(x)=x+1 Kfog(2)
. f(x)=x—3, gof=4x*—20x + 25,Kg(x)
10f(x)—2x—1g(x)——:kg of
11.f(x) =x+3,fog =x%+6x+10, Kg(x)
12.f(x) = 2x—1, x2=3
|x| — 2x, -3<x <3
-2, x<-3
Kf o fof(-1000)
13.f(x) = 2x + 1, f[g(x)] = x* + x + g(x), Lg(x)
14.fBx—1) = 9x? + 3x + 5, f(x) =
15.f(x) =2x+1,g(x) =x*—4, Kf og Fego f
16.f(x) =3x+2,g(x)=ax+b, Kf o g Fego f
17.f(x) =3x—2,g(x) =2x*>+1,/(x) =ax+b
a. Kfoghegof
b. Z(fogoh)(x)= 6x*+12x+7,Kafb
18.f(x)=x+1,9(x)= x> —4x+1
a. Kfoghegof
b. Zfog(x)=gof(x),Kx
19.f(x) = x* + 2x,g(x) = 3x — 2,Kf(2),9(2), f © g(2) Fog © f(2)
a. Kfoghegof
20.f(x)=x+2,g(x)=x*—-2x+1
a. Kfoghegof
b. Kfog(2)Fegof(2)
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